Copyrighl FCI,

! I 2 I I ‘ I 5 I 6 I 1 I 8
REFERENCE SPECIFICATIONS —
MIL-DTL-24308 FOR DIMENSIONS
NFC-93425 FOR CHARACTERISTICS Series *7
PHYSICAL CHARACTERISTICS A
N———— | S —
-INSULATOR MATERIAL: THERMOPLASTIC UL94V0
~CONTACT MATERIAL:  BRASS, Shell size: EABCD
GOLD OVER NICKEL (see sheet 3)
-ACCESSORIES: STEEL FOR METAL BRACKETS, —
cadmium plated yellow passivation o
THERMOPLASTIC UL94v0 FOR PLASTIC BRACKETs | ' ront accessory definition
(see sheet 2)
BRASS FOR OTHERS ACCESSORIES,
cadmium plated yellow passivation Blank cwithout accessory 8
SHELLS STEEL L cthreaded insert M3
. cadmIIJm ploted yellow passivation 0 tthreaded insert UNC 4-40
v cfemale screw UNC 4-40
ELECTRICAL CHARACTERISTICS
Layout of contacts (see sheet 3) —-——0J —
-NOMINAL CURRENT: 7.5A 9.15.25.37.50
~CONTACT RESISTANCE:  <:7.3 m Ohms N
Contacts
-CONTACT/CONTACT : >21000 V .
P “Pin
-CONTACT/GROUND : >21200 V . . c
Termination type
-INSULATION RESISTANCE: >=5000 MOhms . .
7 Right angle/US foot print
ENVIRONMENTAL CHARACTERISTICS Plating
- CLIMATIC CATEGORY: 55/125/56 00 Right angle 500 matings/unmatings —
TEMPERATURE RANGE -55°C TO +125°C 43 Right angle 500 matings/unmatings
DAMP HEAT STEADY STATE 56 DAYS for harsh environment
SALT SPRAY 48 HOURS PCB accessories definition(see sheet 2)
MECHAN ICAL CHARACTERISTICS Berk  iPlostic brockets ’
c ‘Without brackets
RETENTION AGAINST TORQUE: -Threaded insert:0.7 N.m min M ‘Metal brackets
-Female screw:0.5 N.m min
! E
T
XX $e © 0 00O
EEEII;'S"ZTBVeolé7§}f67§if£?'@$§
25 WAY for Example
surface - tolerance std fprojection mm
www. fciconnect.com 150 1302 150 406 SO 1101
TOLERANCES UNLESS OTHERWISE SPECIFIED @EI —
Dr |M PESSON 2006/11/14 NGULAR 0.X +0.3 size Scale
Lo cc o L} dole _Yrng [P LEGARE | 2006/11/14 LINEAR [ oxx | 0.1 A2 201 F
A Jo0s-0cI qWPERZ006TI2TIS e [P LEGARE | 2006/ 11714 |0 [7 onx | +00s ECN LS06-0214
po [P LEGARE 2006711714 JProduct fomily LSpec el
© ° Rev
- SUB MALE DM > COI-8637-1757
[~ with RA contoct US FOOT PRINT s A
— catalog no CUSTOMER fsheet 1 of 9
! I 2 I I ! I 5 I 6 I ! I 8

PDM:FR&\ReA ‘A

sTaTUsRETBaI8elehsedprinted’jufed 8, 220189, 2015



Copyrighl FCI.

I | 2 | 3 | [ | 5 | 6 | 1 | 8
B 3 T A
| 9 S|
% %
N (S E— ~N
| B
\ S}y\ E/% |
ST O == —— == ‘ 8
‘ _ 1
I I =
| | : ||
‘ ‘ L ||
23.10 4101 . B310 01 —
FRONT ACCESSORY L insert M3 V female screw UNC 440 Blank Without L insert M3 V female screw UNC 4.40
Blank Wi thout O insert UNC 4.40 0 insert UNC 4.40
PCB ACCESSORIES C  Without C  Without C Without M wetal bracket M Metal bracket M Metal bracket ¢
1 1 ~ 1
2. =1 =1 : -
S 8 ; (g
s < 1 \\g‘k
‘ = -
| | NN
NEER
QS\UiD\ } £
‘ L insert M3
FRONT ACCESSORY Blank Without O insert UNC 4 40 V female screw UNC 4.40
PCB ACCESSORIES Blank Plastic brocket Blank Plostic bracket Blank Plostic bracket
surface - tolerance std fprojection mm
e t. 150 1302 150 406 1SO 1101
" creennec con TOLERANCES UNLESS OTHERWISE SPECIFIED @E W —
br [N PESSON ] 2006711714 NGUL;_ o T03 |size Scale
Eng | P LEGARE 2006/11/14 LINEAR | o.xx 0.1 A2 2:1 F
Chr | P LEGARE 2006/11/14 a'\iz' 0. XXX +0.05 ECN LS06-0214
Appr| P LEGARE 2006/11/14 JProduct Fo_m\\y -fSpec ref
* SUB  MALE DM < fev
. - o COI-8637-1757
SCALE:4 @ = with RA contoct US FOOT PRINT . A
— catalog no - CUSTOMER fsheet 2 of 9
T | 2 | 3 | : | 5 | 6 | | 8

PDM:PR&WReAA  sTaTUuSRETESI8eehsedprinted’joked 8, 20189, 2015



Copyrighl FCI.

I | 2 | 3 | [ | 5 | 6 | 1 | 8
A
FRONT PCB ; FRONT PCB —
shell size  Contact number
PART  NUMBER ACCESSORY ACCESSORY ¥ XX PART  NUMBER ACCESSORY ACCESSORY
D*¥MxxP700C without without DxMxxPT743C without without
D*MLxxPT700C insert M3 without E 09 D*MLxxP743C insert M3 without
D¥MOxxP700C insert UNC 4.40 without A ) D*MOxxP743C insert UNC 4.40 without B
D*MVxxPT700C female screw UNC 4.40 without i 25 D*MVxxP743C female screw UNC 4.40 without
D*MxxPT700M without Metal bracket C 37 DxMxxPT743M without Metal bracket
D*MLxxP700M insert M3 Metal bracket D*MLxxP743M insert M3 Metal bracket
D*MOx xPT700M insert UNC 4.40 Metal bracket 0 50 D*MOxxP743M insert UNC 4.40 Metal bracket
D*MVxxPTO0M female screw UNC 4.40 Metal bracket D*MVxxP743M female screw UNC 4.40 Metal bracket
D*MxxPT700 without Plastic bracket D*MxxPT743 without Plastic bracket
D*MLxxPT700 insert M3 Plastic bracket D*MLxxPT743 insert M3 Plastic bracket c
D*MOxxPT700 insert UNC 4.40 Plastic bracket DxMOxxPT743 insert UNC 4.40 Plastic bracket
D*MVxxPT00 female screw UNC 4.40 Plastic bracket DxMVxxPT743 female screw UNC 4.40 Plastic bracket
0
E
surface - tolerance std fprojection mm
www. fciconnect.com 150 1302 150 406 IS0 1101
TOLEMES UNLESS OTHERWISE SPECIFIED @E —
Dr |M PESSON 2006/11/14 NGULAR 0.x +0.3 size Scale
Eng | P LEGARE 2006/11/14 LINEAR | o.xx 0.1 A2 2:1 F
Chr | P LEGARE 2006/11/14 a'\iz' 0.XXX +0.05 ECN LS06-0214
Appr | P_LEGARE 2006/11/14 §Product fa_m\\v -§Spec ref
o ° Rev
- SUB MALE DM > CO1-8631-1757
[~ with RA contact US FOOT PRINT o — A
— catalog no - CUSTOMER fsheet 3 0f 9
I | 2 | 3 | [ | 5 | 6 | | 8

PDM:PR&WReAA  sTaTUuSRETESI8eehsedprinted’joked 8, 20189, 2015



! I 2 I 3 I ] I 5 I 6 I 1 I 8

DIMENSTON FOR SHELL E,A,B,C WITHOUT BRACKET

@D‘IG +0.03
Dimensions are in millimeters
= A
P +0.76 +0.25 +0.57 +0.25 +0.51 +0.22
Shell |Number of A 0 B -0 C 40,12 F 0 G 20 H D L 0

size | contacts

10,46 '

Fl 09 30.43 [16.79 [24.99 |[10.47 ] 5.9 2" [ 19.02]0.80
|5 138.76 (25.12 [33.32 | 10.47 | 5.9 0" | 27.25]0.80

A
Bl 25 |52.65 (38.84 |47.04 | 10.43 | 5.7 % |41.02]0.80
C| 37 [68.94 |55.30 [63.50 | 10.56 | 5.7 ‘9% | 57.45|0.90 8

Copyrighl FCI.

f =
<H
<~| - L
<l S
~ H
S “ I “ “ “ " “ “ “ " “ “ I — r -
£ I
- —
3 AR EATHATAITISTSITIIAAD [T — c
[ ‘ A ’
| <
—t— | —t 1 e
, T [ [ l - —— T
| | ) »
| K ‘
A
{405 D
C LAYOUT DIMENSIONS
B0.9 mini
83 i 276 shell 25-37 L.38 shell 25-37
i = 7 74 shell 09-15 .31 shell 09-15] [
<
o S o ™~
-~ 2.76 shell 25-37 - ; \b ‘
_— < T O O O O O|]0O O O O 0|0
274 shell 09-15 : 76—97 |
< O O O O O O O O O O O O
I g ? E
=S} 4 ~
H |
~ ! ! 13 ' !
(} $$$$$$jea$$$$ ¢3‘iO.IO
- \\7$ P ODDDDOD GO D i: .
M
|
f ) { -
O REaaUEE A —
+0.18 www. fciconnect.com 150 1302 150 406 IS0 1101 mm
70 ' TOLEM ES UNLESS OTHERWISE SPECIFIED @E —
§§ 3.00 Dr [N PESSON 12006/ 1714 |0 "] 0.1 303 |size Scale
| 38 shell 25-37 Eng [P LEGARE 2006/ 11/14 LINEAR [ o.xx 0.1 A2 2:1 3
Chr | P LEGARE 2006/11/14 a'Iiz' 0. XXX +0.05 ECN LS06-0214
.37 shell 09-15 Appr| P LEGARE 2006/11/14 JProduct Fo_mIIy -fSpec ref -
. [~ e e
SCALE:3 = SUB  MALE DM s COI-8637-1757
[~ with RA contact US FOOT PRINT s A
— catalog no - CUSTOMER fsheet 4 of 9

ST | 2 | 3 | 4 | 5 | 6 | | 8

PDM:FPR&ReAA  sTaTuSRETESI8eehsedprinted’j0fed 8, 20189, 2015



I 2 I 3 I ] I 5 I 6 I 1 I 8

G016 £0.03

s DIMENSTON FOR SHELL E,A,B,C WITH METAL BRACKET

© Dimensions are in millimeters A

= Shell [Number of A 7+00.7s B fg.zs C o2 F IS'SI G 7+é]_25 I'I +0.51 I 7+(§).22
size | contacts ) -0
F ] 09 [30.43 [16.79 {24.99 |10 47 | 5.9 2" | 19.02 |0.80
Alo15 13876 |25.12 [33.32 | 1047 | 5.9 0" [ 21.25 |0 80
Bl 25 |52.65 (38.84 |47.04 |10.43 | 5.7 0% |41.02]0.80

B C| 37 168.94 |55.30 [63.50 | 10.56 | 5.7 ‘9% | 57.45|0.90 8

6.4 +0.1

+0.1
+0

3.2 402

I 2.84 £0.1

.3

;?‘ IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII D | lg =— ¢

T il 1 PR

Copyrighl FCI.

+ } H
s P <
EN .
A N
(==
0
¢ LAYOUT DIMENSIONS
B0.9 mini
83 i 276 shell 25-37 L.38 shell 25-37
T = 7 74 shell 09-15 .37 shell 09-15] [
w 2 B
o S e ™~
- 2.76 shell 25-37 - . \b
™ < T O O OO0 0|0 OO O Of0
- 2 74 shell 09-15 : 7697 | -
< O O O O O O O O O O O O E
= L
|
a I
{@_}\ > & & 9o 00 " Eéé} #3 ‘iO.IO
D—D .
W&‘WW$$$$I$$E}$$$J
|
— ' —/. b
U AR T
www. fciconnect.com 150 1302 150 406 SO 1101
TDLEM ES UNLESS OTHERWISE SPECIFIED @E —
Dr | M _PESSON 2006/ 1 171a f oo 0.x £0.3 | size Scale
| 38 shell 25-37 Eng [P LEGARE 2006/ 11/14 LINEAR [ o.xx 0.1 A2 2.1 3
Chr | P LEGARE 2006/11/14 a'Iiz' 0. XXX +0.05 ECN LS06-0214
.37 shell 09-15 Appr| P LEGARE 2006/11/14 JProduct Fo_mIIy -fSpec ref -
. [~ 2 ev
SCALE:3 = SUB  MALE DM s COI-8637-1757
[~ with RA contact US FOOT PRINT = A
catalog no - CUSTOMER fsheet 5 0f 9

I 2 I 3 I ‘ I 5 I 6 I I s

PDM:FPR&ReAA  sTaTuSRETESI8eehsedprinted’j0fed 8, 20189, 2015



I 2 I 3 I ] I 5 I 6 I 1 I 8

D016 +0.03

DIMENSTON FOR SHELL E,A,B,C WITH PLASTIC BRACKET

Dimensions are in millimeters

BN s T ot [ 87 [ 5 [0 anre |1 47 ] 6@ [noo 5] |
2 [IIIIIIIIIIIIIIIIIIIIII o |

éi%iﬁ%f%l} I F ] 09 [30.43 [16.79 [24.99 |10.47 | 5.9 5" | 19.02 |0 80
Ao v

(==

+0.15

|5 38.76 125,12 |33.32 | 10.47 | 5.9 5 21.2510.80

+0.25

A
B | 25 |52.65 |38.84 [47.04 |10.43| 5.7 [ 41.02 | 0.80
C

37  168.94 [55.30 [63.50 | 10.56 | 5.7 ‘0% | 57.45]|0.90 8

Copyrighl FCI.

6.3 £0.
! ——
5 & AR D
H T | | | | | | | | | f
= | ] c
o~ [ ~ Ei—ﬁ::k‘;
C T I ?o : II =
Ll | I ANEET
! p—
_ , —
| T I 5 [
- °I o
S
A b <
4.00
0
C LAYOUT DIMENSIONS
B0.9 mini
B e SFeTT 2537 .38 shell 25-37
o
< = 7 74 shell 09-15 .37 shell 09-15] [
+ g o
= 276 shell 25-31 i
= e - obv b b o oI() 0 0 0 0|0
= 2 74 shell 09-15 o {% -
L I N E
P OO GO OGO G OO $H/IE:I 53 ‘imm
\&&G}G}G}@&&{}G}G}G} \1} -
" I sz —
I < | L
— A |G
AR A T
www. fciconnect.com 150 1302 150 406 SO 1101
TOLEM ES UNLESS OTHERWISE SPECIFIED @E —
Dr | M _PESSON 2006/ 1 171a f oo 0.x £0.3 | size Scale
1.38 shell 25-317 Eng [P LEGARE 2006/ 11/14 LINEAR [ o.xx 0.1 A2 2.1 3
Chr | P LEGARE 2006/11/14 a'Iiz' 0. XXX +0.05 ECN LS06-0214
137 shell 09-15 Appr| P LEGARE 2006/11/14 JProduct Fo_mIIy -fSpec ref -
° 2 e
- SUB MALE DM > CO1-8631-1757
[~ with RA contact US FOOT PRINT = A
catalog no - CUSTOMER fsheet 6 of 9

I 2 I 3 I ‘ I 5 I 6 I I s

PDM:FPR&ReAA  sTaTuSRETESI8eehsedprinted’j0fed 8, 20189, 2015



! | 2 [ 3 5 [ 5 | 1 [ 8
0.76 £0.03
2 DIMENSTON FOR SHELL D WITHOUT BRACKET (50 CONTACTS)
LF A
‘ LAYOUT DIMENSIONS
| .38
! — 80.9 mini 2.6
L *:j @ OO\OOOOOO?OOJDJDOOOO B
“ 2 ® O O O O O O 0O 0o oo oo o0 oo *@»
— 4 O O O OO0 O 0 O O O O O O O o0 O i
B
+0.10
55.07 " 3. |
+0.76
66.55 0 i
=
S H
TS c
i .
H 0
S 24 = £ 0.5 -
= i e
61 11 +0.12 j 2 —
2. 52,68 108
= 7. N ¢
H G D DODODDDOOOOGOO GG O O
= @ A A - R R AR l
= ‘ ”G}&}GB&%G}&}&}&%@E}&&G}&}&G&@D
AR A Y, IR
E. www. fciconnect.com 150 1302 150 406 IS0 1101 @5 mm
s TOLERANCES UNLESS OTHERWISE SPECIF IED —
ete ot aoorrrrie P cews o] a2] o ¢
‘38 [ Chr | P LEGARE 2006/ 11/14 fo [+ 0. XXX +0.05 ECN LS06-0214
Appr | P_LEGARE 2006711 /14 JProduct family -§Spec ref
L 'ggsw MALE DM S cor-gestirst |
[~ with RA contact US FOOT PRINT S — A
catalog no - CUSTOMER fsheet 7 07 9
i I 2 I 3 5 6 [ [ s

PDM:FPR&ReAA  sTaTuSRETESI8eehsedprinted’j0fed 8, 20189, 2015



15 00 T

D076 40.03 DIMENSTON FOR SHELL D WITH METAL BRACKET (50 CONTACTS)

LAYOUT DIMENSIONS

— 30.9 min 2.76

= I I

[2}8¢]

OO\OOOOOO?OOééOOOO

&

|5 37 F0%

?‘vj O O O OO 0O O 0o OO O o o0 o
O O O O O OO0 O O O O O O O o0 o
+0.10
23|
. e
T s F
= z = o~
I( e
Al e
D)
T 1 I | H
= =l 2| = 1 0.5 =
== v =
6IIIi0'IZ B S_ _
< +0.25 B o -
So 52.68
= = 1.61 £0.]
- o
‘&&&&&&&&I&&&&&@&@m
@ "GOO DD DD OO OO DS O l
R R R R

_©

.
b =l
o s
- o
S www. fciconnect.com 150 1302 150 406 IS0 1101 @5 mm
5 TOLERANCES UNLESS OTHERWISE SPECITIED —
hd Dr | M PESSON 2006/11/14 NGULAR 0.X +0.3 size Scale
| 38 Eng [P LEGARE 2006/ 11/14 LINEAR [ o.xx £0.1 A2 2:1
. [ 2 76 Chr | P LEGARE 2006/11/14 §o° Iﬂ' 0. XXX +0.05 ECN LS06-0214
= Appr | P_LEGARE 2006/11/14 §Product family -§Spec ref
—] ——— —
© 2 R
- SUB MALE DM > CoI-8631-1757 |
[~ with RA contoct US FOOT PRINT s A
— catalog no CUSTOMER fsheet 8 of 9
! I 2 I 3 I ‘ I 5 I 6 I I 8

PDM:FPR&ReAA  sTaTuSRETESI8eehsedprinted’j0fed 8, 20189, 2015




3 I

| 5

I 6 I

1 | 8

D076 £0.03

DIMENSTONS FOR SHELL SIZE D WITH PLASTIC BRACKET

G

!
[2]84]

LAYOUT DIMENSIONS

0.9 mini 2

(50 CONTACTS)

OO\OOOOOO

Wan
a7

O O O O OO O 0o oo o o o oo

OOJDJDOOOO

k. 0 00O0O0O0OO 0 00O0O0O0OO
+0.10
55.07 " 3. |
+0.76
66.55 -0
) A -
& |
= (] ) = = -
- - | ‘ f
# @ TR B ! {r —
| — ||
1 ol
& D -
- = Z. = LD <
10,12 = - B
T R - 2 = 1.67 £0.1
- 0.2 — - = : '
2 52.68 |
- z
j ﬂ&&&&&&&&e&&&&&@&@‘m//\
= @ "C O DD ODO DD DD DD O O //@
s "&&&&&&&&ee&&&&@&@y
- K =
o .
i BT 27 - R Lo
‘e ci t. 150 1 | 150 1101
5 www crconnec com - — @E
b Dr |M PESSON 2006/11/14 . size Scale
|.38 tog [P LEGARE 2006711714 [ o | Linear oo | =0 A2 21
Chr | P LEGARE 2006/11/14 U'Iiz' ECN LS06-0214
2.6 Appr| P LEGARE 2006711714 JProduct fomily -JSpec ref
= SUB MALE DM S coi-8e31-1751 |
[~ with RA contact US FOOT PRINT s A
— cotalog no - CUSTOMER Jsheet 9 of 9
! I I 3 I [ 5 I 6 I I 8
PDM:PR&WReAA  sTaTusRETea8elehsedprinted tineds, 2o1g9, 2015




